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Variable > X1 | X2 | Direction | R.H.S.
M aximize 4 -1

C1 ¥ -2 = 14
c2 1] 1 £= 3
C3 2 -2 = 3
LowerBound ] ]

UpperBound M M

YanableType Integer Integer

Branch-And-Bound Node Solution - Tteration 1

03-17-2007 | Decision Lower Upper | Solution | Yanable
04:13:57 | Yanahle Bound Bound Yalue Type Status
1 x1 1] M 2.8571  Integer Mo
2 2 0 M 3.0000 Integer Yes
Current | OBJ[Maximize] = 8.4286 »= ZL = -M Mon-integer

Branch-And-Bound Node Solution — Tteration 2

03-17-2007 | Decizion | Lower | Upper | Solution | Yarniable
04:14:43 | Yariable | Bound | Bound | Yalue Type |Status
1 3.0000 M Integer
2 2 1] M Integer
This node iz infeasible 1IN
Branch-And-Bound Node Solution — Iteration 3
03-17-2007 | Decizion Lower Upper | Solution | Yariable
04:15:12 | ¥aniable Bound Bound Yalue Type Status
1 0 2.0000 | 2,0000 | Integer Yes
2 X2 0 M 05000 | Integer Mo
Current | OBJ[Maximize] = 7.5000 »= L = -M M on-integer

Branch-And-Bound Node Solution -- Tteration 4

Wariable .

03-17-2007 | Decision Lower Upper | Solution
04:15:45 | ¥anable Bound Bound Yalue Type Status
1 0 2.0000 2.0000  Integer Yes
2 2 1.0000 M 1.0000  Integer Yes
Current OBJ[Maximize] = 7.0000 >= AL = -H Hew incumbent

Branch-And-Bound Node Solution —- Iteration 5 ) A ]

03-17-2007 | Decizion Lower Upper | Solution | Yanable
04:16:21 | ¥Yanable Bound Bound Yalue Type Status
1 0 2.0000 | 1.5000 | Integer Mo
2 x2 0 0 0 Integer Yes
Current | OBJ[Mazimize] = 60000 <= AL = 7.0000 Mot hetterl!

Wolsey, p 95

Saturday March 1%'" .EIIJI].?
Decizion Solution  Unit Cost or Total Heduced Baszis
_'!.F'anahle Yalue Profit ¢fj) Contribution Cost Status
I =1 2.0000 4.0000 8.0000 0 baszic
2 =2 1.0000 -1.0000 -1.0000 -1.0000 at bound
i Objective | Function [Max.] = 7.0000
B Left Hand Right Hand Slack Shadow
ol Constraint Side Direction Side of Surplus Price
I C1 12,0000 {= 14,0000 2.0000 0
E c2 1.0000 {= 2.0000 2.0000 0
3 C3 2.0000 {= 3.0000 1.0000 0




